

$$f(x,y) = x^4 + y^4 - x^2 - 2xy - y^2$$

MAF041 - DUV

1) Potenziell krit. $f \in C^0(\mathbb{R}^2)$

$$\frac{\partial f}{\partial x}(x,y) = 4x^3 - 2x - 2y \quad | = 0$$

$$\frac{\partial f}{\partial y}(x,y) = 4y^3 - 2x - 2y \quad | = 0$$

$$\Rightarrow x=y \Rightarrow 4x^3 - 2x - 2x = 0 \rightarrow 4x(x^2 - 1) = 0$$

$$x = 0, \pm 1$$

$$(0,0) ; (1,1) ; (-1,-1)$$

2) Klassifizierung:

$$\frac{\partial^2 f}{\partial x^2} = 12x^2 - 2 ; \quad \frac{\partial^2 f}{\partial x \partial y} = -2 ; \quad \frac{\partial^2 f}{\partial y^2} = 12y^2 - 2$$

$$w(0,0): \quad \nabla^2 f = \begin{pmatrix} -2 & -2 \\ -2 & -2 \end{pmatrix} ; \quad \det = -2x_1^2 - 2x_2^2 - 4x_1x_2 = -2(x_1 + x_2)^2 < 0$$

\Rightarrow potentiell max. aber nicht gut für $f(0,0) = 0 < f(x,-x)$

$$w(1,1): \quad \nabla^2 f = \begin{pmatrix} 10 & -2 \\ -2 & 10 \end{pmatrix} \quad \text{pm. det. alle Eigenwerte } \Rightarrow \text{min. oder max. min.}$$

$$w(-1,-1): \quad \nabla^2 f = \begin{pmatrix} 10 & -2 \\ -2 & 10 \end{pmatrix} \quad \text{alle Eigen. min. alle Eigenwerte}$$

$$6) \quad x + y + 4 \cos x \cos y = f(x, y) \quad \text{mit } (0, \frac{\pi}{12}) \times (0, \frac{\pi}{12})$$

$$1) \quad f \in C^0(\mathbb{R}^2)$$

$$\frac{\partial f}{\partial x} = 1 + 4(-\sin x) \cos y \quad \Big| \quad = 0$$

$$\frac{\partial f}{\partial y} = 1 + 4(\cos x)(-\sin y) \quad \Big| \quad = 0$$

$$\Rightarrow \sin x \cos y = \sin y \cos x \Rightarrow \tan x = \tan y \Rightarrow x = y$$

$$1 + (-4) \cdot \sin x \cos x = 0 \rightarrow 1 = 2 \sin 2x \rightarrow \sin 2x = \frac{1}{2}$$

$$\rightarrow 2x = \frac{\pi}{6}, \frac{5\pi}{6} + 2k\pi$$

$$x = \frac{\pi}{12}, \frac{5\pi}{12}$$

$$\text{Potenziell krit. P.: } \left(\frac{\pi}{12}, \frac{\pi}{12} \right) \wedge \left(\frac{5\pi}{12}, \frac{5\pi}{12} \right)$$

b) Charakteristika:

$$\frac{\partial^2 f}{\partial x^2} = -4 \cos x \cos y; \quad \frac{\partial^2 f}{\partial x \partial y} = 4 \sin x \sin y; \quad \frac{\partial^2 f}{\partial y^2} = -4 \cos x \cos y$$

$$H \left(\frac{\pi}{12}, \frac{\pi}{12} \right): \quad \nabla^2 f = \begin{pmatrix} -4 \left(\cos \frac{\pi}{12} \right)^2 & 4 \left(\sin \frac{\pi}{12} \right)^2 \\ 4 \left(\sin \frac{\pi}{12} \right)^2 & -4 \left(\cos \frac{\pi}{12} \right)^2 \end{pmatrix}$$

$$- \nabla^2 f \text{ ist pos. def. alle Eigenwerte: } 4 \left(\cos \frac{\pi}{12} \right)^2 > 0; \quad \det(-\nabla^2 f) = 16 > 0$$

\Rightarrow also lok. max.

$$H \left(\frac{5\pi}{12}, \frac{5\pi}{12} \right): \quad \text{potenziell also lok. max}$$

4. $\sin x + \cos y + \cos(x-y) = f(x,y) \in C^0(\mathbb{R}^2)$

1) $\frac{\partial f}{\partial x} = \cos x + (-\sin(x-y)) = 0$

$\frac{\partial f}{\partial y} = -\sin y + \sin(x-y) = 0$

$y \in (0, \frac{\pi}{2})$

$\Rightarrow \cos x = \sin y \Rightarrow \sin x = \cos y$

$\sin y$

$-\sin y + \sin(x-y) = -\sin y + \sin x \cos y - \sin y \cos x \stackrel{\sin y}{=} 0$

$\cos x - \sin x \cos y + \sin y \cos x = 0$

$\sin y$

$\sin y$

$\Rightarrow \sin x = \sin(\arccos(\sin y)) \quad ? \quad x, y \in (0, \frac{\pi}{2})$

$= \sqrt{1 - \sin^2 y} = \cos y$

$\Rightarrow -\sin y + \cos^2 y - \sin^2 y = 0 \Rightarrow 1 - \sin y - 2\sin^2 y = 0$

$2\sin^2 y + \sin y - 1 = 0 \quad \sin y = \frac{-1 \pm \sqrt{1+8}}{4} = \frac{-1 \pm 3}{4}$

$\Rightarrow \sin y = \frac{1}{2} \wedge y = \frac{\pi}{6} \wedge x = \frac{\pi}{3}$

5. Quadranten:

$\frac{\partial f}{\partial x} = -\sin x - \cos(x-y) \quad ; \quad \frac{\partial^2 f}{\partial x^2} = \cos(x-y)$

$\frac{\partial^2 f}{\partial y^2} = -\cos y + (-\cos(x-y)) \quad ; \quad \frac{\partial^2 f}{\partial x \partial y} = \sin(x-y)$

$\Delta H \left(\frac{\pi}{3}, \frac{\pi}{6} \right) = \begin{pmatrix} \frac{\sqrt{3}}{3} & -\frac{\sqrt{3}}{3} \\ -\frac{\sqrt{3}}{3} & -\frac{\sqrt{3}}{3} \end{pmatrix} = \frac{\sqrt{3}}{3} \begin{pmatrix} -2 & 1 \\ 1 & -2 \end{pmatrix}$

$-\Delta^2 f$ ist pos. def. alle Eigenwerte \Rightarrow $\frac{\pi}{3}$ ist max. def. \Rightarrow $\Delta H \left(\frac{\pi}{3}, \frac{\pi}{6} \right)$ ist indefin. max.

8. $f(x,y) = x - 2y + 2\sqrt{x^2+y^2} + 3 \ln y$ $x \neq 0$

1) f is C^∞ on entire \mathbb{R}^2

$$\frac{\partial f}{\partial x} = 1 + \frac{1}{\sqrt{x^2+y^2}} \cdot \frac{2x}{2\sqrt{x^2+y^2}} + 3 \cdot \frac{1}{1+\frac{1}{x^2}} \cdot -\frac{2}{x^2} =$$

$$= \frac{x^2+y^2+x-3y}{x^2+y^2}$$

$$\frac{\partial f}{\partial y} = -2 + \frac{2}{x^2+y^2} + 3 \frac{1}{1+\frac{1}{x^2}} \cdot \frac{1}{x^2} = \frac{-2(x^2+y^2)+y+3x}{x^2+y^2}$$

$$\left. \begin{aligned} x^2+y^2+x-3y &= 0 \\ x^2+y^2-\frac{2}{x}-\frac{3y}{x} &= 0 \end{aligned} \right\} \Rightarrow x-3y = -\frac{3x}{2} - \frac{y}{2}$$

$$\frac{5}{2}x = \frac{5}{2}y \Rightarrow \underline{x=y}$$

$$2x^2+x-3x=0 \quad ; \quad 2x(x-1)=0 \Rightarrow x=0, 1$$

\Rightarrow local only ~~(1,0)~~; (1,1)

b) Gradient: $\frac{\partial^2 f}{\partial x^2} = \frac{2y}{(x^2+y^2)^2} - \frac{(x^2+y^2+x-3y)2x}{(x^2+y^2)^3}$

$$\frac{\partial^2 f}{\partial x \partial y} = \frac{(2y-3)(x^2+y^2) - (x^2+y^2+x-3y)2y}{(x^2+y^2)^3}$$

$$\frac{\partial^2 f}{\partial y^2} = \frac{1}{(x^2+y^2)^2} ((5y+1)(x^2+y^2) - (-2(x^2+y^2)+y+3x)2y)$$

$w(1,1)$: $\nabla^2 f = \text{matrix}$

$$w(1,1): \nabla^2 f = \begin{pmatrix} \frac{3 \cdot 2 - 0}{3} & -2+0 \\ -1 \cdot 2 & -3 \cdot 2 - 0 \end{pmatrix} = \frac{1}{3} \begin{pmatrix} 6 & -2 \\ -2 & -6 \end{pmatrix}$$

$$\Delta Q(x) = \frac{1}{3} (6x_1^2 - 4x_1x_2 - 6x_2^2) = 6(x_1^2 - \frac{2}{3}x_1x_2 - x_2^2) = 6 \left[(x_1 - \frac{1}{3}x_2)^2 - x_2^2 - \frac{2}{3}x_2^2 \right] = 6 \left[(x_1 - \frac{1}{3}x_2)^2 - \frac{10}{3}x_2^2 \right] \Rightarrow \text{index } w(x)(1,0), (1,3) \Rightarrow \text{saddle}$$